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P4gina Linha Ondeselé Leia-se
49 EQ. 14 Wy = k6, + &, Wi = 6]kj; + &
49 EQ.15 D =Wy — W, D = Wy — Wy
= (ksi — kai)0; + Esi_(ési - 6;) = (ks — kai)0" + ksi (O —_9*)
+ kqi (8] — 041) + kai(67 — 65)
49 15 (ksi — kai)0; (ks — kai )0
49 16 ksi(Bsi — 67) ksi(Gs — 07)
49 17 kai(0 = 84 kai(07 = 0,)
49 Eq.16 D =Wg—Wy D = Wy; — Wy
= (ksi — kq)Osi + kai(0si — 00i) = (ks — kai)Os + kqi(6s — 64)
49 21 (ksi = kai)Bs (ksi — kqi)0s
49 22 kai(Osi — 04i) kqi(6s — 64)
91 Tabela 6 0,0397(a) (a)
91 Tabela 6 -0,0004(a) (a)
97 Tabela 8 0,0132(a) (a)
97 Tabela 8 -0,0001(a) (a)
99 Tabela 9 0,0459(a) (a)
99 Tabela 9 -0,0005(a) (a)
102 11 61,97% 85,84%
102 13 19,65 21,71
102 15 19,65 21,71

102 17 42,32 52,68



